0og
oo ogood

ooooobooooobooon

ddddddoooouooooa
Jdddddddoooooooog
goddooooooooo

Jdoddddooooooooo
Jdddddddoooooooog
Jdddddddoooooooog
gdddddodoooooooog
gdddddddooooooooa
gdddddoooooooooaa
gdddddoooooooooaa
gdddddddooooooooa
gooogd

gdddddooooooooga
goooood

gobooooboooobooon
goboboooobooooobmon
gobobooooboooboboon
gobobooooboooooo

gobooooobooooobooon
gobopboooobooseonboon
gobobooobobooobobogoo
gobobooobobiogoboboon

001 00O0OO0ODOO0OODOOOO0OO

0ooulonec/00000[ 000000
OmeNALOpmsog DL00 | OngOD
Doo [2800 [e100
0 | 042 0 14 | 31
500 | 150 0 08 | O
750 | 168 0 08 | O
0 | o038 10 16 | 12
250 | 0.72 10 17 | 79
500 | 105 10 26 | 201
750 | 146 10 21 | 151

01mOoo0ooo0oooooooooa
000009e80100210000000
3000000000000000000000
ooood

00000000N0.323099.9.100

Jobodotdoot
Jobdotdobootd

2500 000000DObDOoOoOooboboO
gopobogooseon7son oo
ooobooooobooobobooon
oopoboooooooooom
gobobooobobwogooobog
oooboooooboooooboooon
ooooooooboooooo
gobobooooboooobog
gobobooooobooobobooon
gobobooooobooobobooon
gobobooooobooobobooon
goobooooobooobobooon
gobobooooobooobobooon
goobooooobooobobooon
gobobooooobooobbooon
goooooooo

gobobooobobooooboboo
gobbooooobooobooon
goooooo

gobobooobboooobobog
gobbooooboboooboooon
gomobiomSOOooooooog
gobboooobooobbogon
gobooooobooon

gobbooobboooboboo
goboooooboooobooon
gobboooobobooobbooon

e IO DUOOOOOOLODLOOOOO

gobboooooboooooobogo
goboooboboooobobooon
gooboooobogooooo

goboboooboboooooobogo
gobooobbooobobooon
gobooobbooobonooobo
goobooboooboboobobobogo

55

gobbooooboboooooboobogo
goboooboboooboboooon
goboomooooboboooooo
gobooobobooobobooon
gobooobobooobobooon
gbooooooobogo
goboobooooooboooooobogod
gobooobboooobboooon
gbobooobobooobobooon
gobooobobooooobooon
goo4o0eobOoooboooon
ooboooooobooom
dooboobomooooooogono
gobooobobooooboboooon
goboooboboooooboossgn
goooooooooon
goooooooooooobogo
oMoooboooomooooo
gobooobobooooobooon
gobooobobooooobooon

ogoooooooooooooood ogooo o0oooooooooooo
ogooooobooooo ooooooooooo
100 - — 0.25
5 DDDDDDDD/\
0
o 8 o o / \
U 0
0 60 0.15 A
0 —— 00000000 H W
H 40 ||——n0oo0oooo %g 0.0
O —a— 00000000 0
= Eom
ol— o = S
0 2 4 6 8 10 0'000 20 40 60 8 100
00000EQ mS/O M ooooog

001 0DoOoobOecoobboOooOoOoon
00 O0Ob0i1booooobbObooooD

002 ODO0O0O0OOOOOOoboOobooooo
00 000099020240 000000



